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1
" on the breakdown of marks is given in brack ithi
Jidance ets within the i
e . questions,
1 papet -
) 21;
2 0 a2
3 0 1.2 22 .1y
|5 (3) 32 4) 128 (short division method)
¥ (e) 144 90 +54=144
! ? (d) 130 58 + 67 = 125 (1) 125 rounds to 130 (1)
| I a2 945- 673
' 9(b)35 45-:—9.=5(1) 5x7(1)
' 10 (b) 90 Approximately 6 circles down and 16 across, 6 x 16 = 96
1 28 =4
b) 7
12 () e Divide the numerator and denominator by 2
14 (b) 075

45 (a) 7om 100cm = 1m, 750 + 100
16 (c) 360cm Width is 120cm + 2 = 60cm (1)
Perimeter = (120cm x 2) + (60cm x 2) = 240cm + 120
— cm (1) =36
47 (b) STruns 49+ 76 + 52 + 27 = 204 (1) 204 + 4 (1) (M Ocm (1)

1
]
1
i
]
1
1
]
1
{18 (d) 3 a=12-9(1) 12-9=3(1)
19 (e) 9 b=2+7(1) 2+7=9(1)
: 20 (e) Sidesare different lengths
]
! paper 2
, 1 (a) (i) £1565 £185x5=£925(1) £1.60x4=£640(1) =£9.25+ £6.40 = £15.65 (1)
1 (b) (iii)5 coins Coins of £2, £2, 20p, 10p, 5p
d (c) (v) £7.55 £6.40 + 2 = £3.20 (1) £15.65- £3.20 = £12.45 (1) £20.00-£12.45 = £7.55 (1)
v (d) (i) £8 £7.55 = 755p, 755p rounds to 800p = £8.00
' (e} (ii) £1,50p. 10p, 2p, 1p
12 (a) (v) 348m 3.65m +3.45m +3.25m + 3.57m = 13.92m (1) 13.92m = 4 (1)
X {b) (iv)0.4m Identify the smallest measurement (3.25m), identify the largest measurement (3.65m)
i 3.65m-3.25m
1 3 {a) (v) 16 Michelle receives 8 sweets from her 2 parts, so each part is 4 sweets (1)
1 Peter gets 4 x 4 = 16 (1)
. (b) (iii) 36 4+43+2=9(1) 9x4(1)
ECEn.
! =
i 5
]
1
: ]
1 "
1
1
1
1
!5 (a) (i) 40m 14m+6m+8m+3m+6m+3m
8m
1
1
: (6m-3m=3m)
' (14m-8m=6m)
: 6m
l 3m
{
]
]
]
: m =18m2 (1) 48m? + 18m?2 = 66m? (1
' (b) (iii) 66 m2 8mx6m=48m2(1) 6mx3m=18m
 {) (v) £554.40 66 m? x £8.40
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.-13:7(1)

6 (a) (ii) 7 26-13=13(1) 20
i ‘ +10=5 (1)
(b) (iv)s 2x5=10(1) 50+ B ]

7 (a) (iii)32 Add the tally marks 5+ 5+ 5+ 5 :t o) s7ee8+32+ 32+ 11= 200 (1)
(b) (v) 200 Calculate the total for each type of travel (T 2050 L vho came by bus is 32,
(c) (iii)36 The number of children who came by car s 5%

68 (1) - 32 (1) = 36 (1) o 20 =%(1)
(d) @) % 57 (walking) + 32 (bicycle) + 11 (scooter) = 200
8 (b) (1.2)(1),(-1.0) (1)
13 y —1 ]
2 ¢ \(l' ‘j
1.0, . .
KPS T S £ 1 /% &

Paper 3
1 1059 M =1000,L=50,IX=9
29 27 - 18
3 3,3 (1) for correct hundreds digit, (1) for correct units digit
1
3 8 | 9
+ 3 5 3
7 | 4| 2
1 1
4 23
5 3762 1000 x 3 = 3000, 200 x 3 = 600,... 3000 + 600 + 150 + 12 = 3762
6 2926 5272 - 2346
7 132 12x11=132
8 30 2x3x5
9 £306 Reduction £360 x 15 + 100 = £54 (1) New price £360 — £54 = £306 (1)
2 10 2
10 3 5 (D =5(1)
11 y=6 3y=43-25(1) 3y=18(1) y=6(1)
12 18.4cm Opposite sides are of equal length (1) 6.4cm + 6.4cm + 2.8cm + 2.8cm = 18.4cm (1)
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3 25 cm? rg21 whole squares + 8 halfﬂsSEares
— | “’I‘*ﬂ ———
[ —
H | w w
T/
aD i wlw | w
1A h
dlw | wiwiwiw | w
./<,.4———‘J )
H! w W W | w w
/J’_‘d SR R 7
— |
L— ——— 1
0 9.97kg 3.24kg + 0.81kg + 4.22 kg +1.7 kg
15 48 64+4=16(1) 16x3=48(1)
16 35 3y+8=(3x9)+8=235
0.81s + 9.85s + 9,91 9.8
17 9.88s ( 5+983s + 10.0s5) = 494 )
e S(';'?“ xsg ) 0s(1) 49.40s + 5=988s (1)
9 200° +50° +20° =160° (1) 360° - 160° = 200°
;0 400cmor4m  40cm x 10 20 (1)
paper 4
1 (a) 48m 1Zm+12m+12m+ 12m
(b) 44m? 12m x 12m = 144mz (1) 10m x 10m = 100m2 (1)
{c) 2304 tiles 0.25m x 0.25m = 0.0625m2 (1) 144mz2 - !
(d) £230.40 2304 tiles x 10p (1) m?# + 0.0625m? (1) or alternative method
(e) £70.40 100m? + 0.0625m2 = 1600 tiles (1) 1600 tiles x 10p = £160 (1)
£230.40 — £160 = £70.40 (1) or alternative method
2 (a) 68516 82000 - 13484
(b) 3371 25% of 13484 = 13484 = 4
(c) 6000 8000 + 4 = 2000 (1) 2000 x 3 (1)
3 One million, forty thousand, seven hundred and three
4 £6.78 £6.87 £786 £8.67 £8.76
5 (a) 27
(b) 21 48-27
(c) 105 38+27+21+19
(d) 65 38 + 27
{e) 59 38 + 21
6 (a) 3(x-5)=12 (1) forx —5 (1) for 3 x bracket

(b) 9 12+3=4(1) 4+5=9(1)
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paper &
- (a) 740km
(c) 275km

(a) 39km

(b) 11.7km/h
3 (a) 70%

(b) 12
(@ 17 marks

a) 50 litres
4 Eb; £55

(b) 27

(<) 78.4%
6 (3 £98.62

(b) £87.57
(a) 1 hour 4 minutes

(b) 10:34
(c) 13:01 )
(d) 1 hour 36 minutes
(e) 445000
8 (a) 10 trees
(b) 55 trees

(c) 838m

(d) 11 trees
(e) 33 trees

To Rennes
Marseille to Rennes 1050km (1) Marseille to Paris 775km (1) 1050km - 775km
3x 12=36km (1) 20 minutes is 3 of an hour.% of 9km = 9km + 3 = 3km (1)
36km + 3km = 39km (1)
39+33(1) =39x75(1) =17 (1)

66 + 78 + 90 + 60 + 62 + 80 + 68 + 56 = 560 (1) 560 + 8 = 70% (1)

80 40 56 28
Natasha: 80%9; ‘_1025= ) (1) Luke:56% = 700 = 50 (1) 40-28=12 (1)
; 28
Ellie: 90% = 755 = ) (1) Luke scored = {above) 45 - 28 = 17 (1)

450km + 9km/litre

50 litres x £1.10

5cm x 5cm x 5cm

98 cubes have a least 1 face showing (1) 125 -98 = 27 (1)

98 cubes have a least 1 face showing, 98 + 125

Ties: £8.95 X 7 = £62.65 (1) Shirts: £11.99 x 3 = £35.97 (1) £62.65+ £3597

= £98.62 (1)

New total £98.62 + £8.95 = £107.57 (1) £107.57 > £100 so £107.57 — £20 = £87.57 (1)

11:38 — 10:34

Arrives at Gatwick at 11:08

12:52 + 9 minutes

13:07 train

981000 - 536000

Each tree symbol stands for 2 trees

Oak: 8 trees, Ash: 10 trees, Horse chestnut: 6 trees, Hazel: 9 trees, Yew: 3 trees, Sycamore: 9

trees, Hawthorn: 10 trees (1) 8+ 10+6+ 9+ 3+ 9+ 10 = 55 (1)

(Oak) 8 x 40m = 320m (1) (Ash) 10 x 35m = 350m (1) (Horse chestnut) 6 x 28m =
168m (1) 320m + 350m + 168m = 838m (1)

6 horse chestnut trees x 11 = 66 trees in total (1) 66 — 55 (original trees) = 11 (1)

2 11 trees x 3 = 33 (1)

9 (2) [FF
2
3 3
4 3
5 4
6 5
7 4
8 i 2
9 T 2
(b) 5.625 goals Total goals 135 (1) 135 + 24 (1)
{c) 6 goals modal score is the most common score
(d) 6 goals the median is the middle score of an ordered set of scores (1)

(e) 15 goals

10 £989 £8901 + 9

2,3,3,3,4,4,4,5,5,5,56,6,6,6,6,7,7,7,7,8,8,9,9 (1)
25 matches x 6 goals = 150 goals (1) 135 goals in 24 matches, 150 - 135 = 15 (1)
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1

12
13

14
15
16

(3,1 (6.4 * 6)

(a) (1.3) (4!
(b) (1) for stone reflected in line A ;
(c) (1) for each ‘stone’ reflected in line .
; 1T
| | L—-—-‘A-"""‘
12 3
actid Reflection
" | Reflection eflect
in line A ]
10 __inlineR | N—1] L
9 N N/
___._..—-__,._ﬁ_,’—-i_.,..—— S IS
84 .
,_-—‘_——-——-‘.,——v\.,_—-——_‘w_—-——-_____. A
7 —-—-“-,,_-—-—-""
6 T AN
5 I B
’ Reflection
in line B
3 o
2 :
1
© {7 2 3 4 5 6 7 8 9 w0 m 12 13
6 27x2=54(1) 54+9(1)
(a) 1200 4B % 25
(b) 2400kg 1200 x 2kg
20.5km 3936km + 24 = 164km (1) 164km + 8 = 20.5km (1)
19 straws 2x + 1, where x is the number of patterns (1) (2% 9) +1 (1)
8 y
7
6
5
A new shape
4 '
3
: A\
1
° X
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paper 7

OWVW®® N O Vi W -

B )
-

-
™~

-t
W

6+ 115 _____ 121=3(1) 121>118(1)
1) for each term (Double the previous number and add 1)

>
1
A7, 95,19 Factorsof 24—1,2,3,4,6.8,12,24 (1) Factorsof 36 -1, 2, 3, 4, 6,12,18,36 (1)
LT 12367142142
2,38 51 m x 1000
2500m™ 2
6 76 776 666766 767667 776677

6766 1 of the book is 166 pages, so 166 x 3
498 il ?cmx5cmx35cm
122.5648 56, 64 and 68 shaded (1) 36, 48, 54 and 66 circled (1)
36.4‘:;d 7 5+6+7=180r18+3=6 (mlddle of consecutive numbers) (1) 5x 6 x 7 = 210 (1)
g,ea ﬂx%-—“ (1) cancelsto—(1)
51 L % Multiply the numerators and the denominators
15
;4 or 2 2 Take away whole number from whole number: 4 - 2 = 2 (1)

6 3 Take away fraction from fraction g - % = % (1)

3,.2_5

g 2+3=5(1) _6-+€_6()

A £660 x 15 (1) = 9900 9900 + 100 (1) or alternative method
5345 3+44+5=12(1) 1068 +12=£89(1) £89x5 (1)
£3 Two-digit prime numbers < 30:11,13,17,19,23,29(1) 2+3=5(1)
3000 20cm + 2cm = 10 (1) 10 x 10 x 10 (1) or alternative method
Hexagonal prism g faces 18 edges 12 vertices (1) for each correct answer
37.68cm 3.14x 12
p+240r0+6
038+ 346x3=(300x3)+(40x 3) + (6x 3) =900 + 120 + 18
1456 Use bus stop method
3.575kg (2.9kg + 3.7kg + 3.1kg + 3.9kg + 4.2kg + 3.6kg + 3.1Tkg + 4.1 kg) =28.6kg(1) 28.6kg+8

‘ =3.575kg (1)
- 54+4222=13(1) 2a2=8(1) a*=4(1) a=2(1)or20+8a=52(1)

8a% = 32 (1) a2=4(1) a=2(1)

4:3 120 apples:90 oranges, 4 apples:3 oranges
£8, £12 2+43=5(1) £20:5=£4(1) £4x2(1) and £4x3 (1)
10— /"V

9

84—

7

6 s

5

4 //

3,_.

2 //

1~

X

0

1

yis twice the value of x
29 9inches ;
30 2 hours 14 minutes 134 minutes - 120 minutes (2 hours) = 14 minutes

2 3 4 5

2.5cm: 1inch, 22.5cm + 2.5cm
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Paper 8
1 (a)
Mr Richards’ class

Mrs Flynn's lass

Mrs Thomas s « lass

rrect, (4) for all 7 correct

Total
(1) for any 2 correct, (2) for any 4 correct, (3) for any R
(b) 333%  10+30 (1) 0333x 100 (1)
) 9 1+2=3(1) 27+3=9(1)
(d) 3:2:2 12:8:8 PRETN -
{e) 17 10% of 85is 8.5 (1) 85% 2=17

2(&) o % 1
X

_—

| |

2 o
1 J

2

(1) oraltemé'tive method

Hlw
—

¢ 1 =,

. e

-

JI‘L B % .i) ; 5
even chance ca:gqinq R %:a s
Bl sluhe cards show a square number

il prn sl

4

and 4) from a total of 8 cards :
) O B el 1 AN v
P 2o SLPRSCE

square numbers (1

- of ShELE flﬁ . i Siksg by
e~ i1 LI LR = S
GRS R

. &

T «Fﬁﬁ@}mig 16 C
Sl g ,

¥ M - ‘
e
H = '
wh E < 'ur '
- Ij.-‘-!-lf'__ﬂ._,_,.‘_ = 4 :
& ) _H !r— é o
. i
.-.,‘1;" H.n.;f“ ‘-'u, - ’
IR Ttk e

i ph - B

il 3
' .




=
/"/
//—f
/"""‘ [
— | I ﬁ
—T1 1
a) 1 Arun
(b) 2 Joeand Phoebe
¢) 3 Anne, Darren and Arjun
(d) 1 Anne
(4, -2) (2 -2)and (-1, 2) (1) for each pair of co-ordinate values
o "
oo B T 6
] 1 7\
-5 -4 = ] :! \';\\ 4 5 X
(a) 1400 B £350 x 4
(b) £133.75 120B +85B + 100B + 230B =535B (1) 535B =+ 4(1)
{c) 60 B 120 x 4 = 480 B (1) 120 x 3.5=420B (1) 480 B - 420 B (1)
d) £50 150 B + 3
{e) UK by6B UK price in Blings: £28.50 x 4= 114B (1) 120B - 114B=6B (1)
(a) 35000 100 x 350
(b) 36750 5 x 350 = 1750 (1) 35000 + 1750 = 36 750 (1)
(¢) 35 days 100 days + 5 days = 105 days (1) 105 days + 3 (1)
(a) 10.5m 1750mm x 6 = 10500mm (1) 10500mm + 1000 = 10.5m (1)
(b) 28.44m 4740mm x 6 = 28440mm (1) 28440mm + 10000mm = 28.44m (1)
(a) £2160 £17248 + 8 = £2156 (1) Round to the nearest £10 (1)
(b) £83 £2156 + 26 = £82.92 (1) Round to the nearest £ (1)

11

12

(a) 8 cherries
(b) 6 bananas

364
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a=2b,2b=8c(1),50a=8c(1)

3a = 6b (1), so kiwi = 6b (1)
Add the previous term (1) to the difference, which increases by a factor of 3 each time (1)



Paper 9 +12=7(1)
17
2 (97

3 (d) 9’5 = 9§

4 (b) £418058
5 (a) 40

6 (d)

7 (o 23.35

8 (e) 15232 16iszof32

9 (a) 56 2 litres x 6 = 12 litres (1) 12 litres +
14000ml + 250ml = 56 (1)

10 (b) 1.3

11 (e) a parallelogram . R N

- 84
14+ 14+ 14+ 14+ 14+ 14=84(1)

2@ =g

0-30(1) =40(1)

4+2=15232(1) .
(1) 3046 2 ljtres = 14 litres (1) 14 litres = 14000m (1)

I 5N
I

; ke dads 4
(1) 217 +7= 31 (’“»1_ A
\ e ,Qb” o LAY PR,

32 +43 +37+33+26+26+20=217

T : B e o ":';3*3 e | B AP
| % o

. T I

£

=yl T

k . ] | !
S S (RN & 1 ) T -
B T (e | X o
» "yl “hEE -
LT P e &
. h - &
— S
age s
- s )
.-.'Jj:l_' ; : B

i

- _:A_

¥

{ i

! . ) Ll'

, —~ ’" 2 e .
7 ’ - -
s g I

o 5?13 2R = wRESY
o JE At R R

= L S

T37] 8601 = o200
5 = Sk 7 g .v j' -

5L 4 Pecod
] SR, e 17
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(c) £23.76
(b) Richard
(o) 483

NN NN N
v A

nN
(43}

(b) 07:15

(c) -62°C
() 10

@ ~

o

(b) 42
(c) Picking

W W N NN
o

w
N -

,,4-—1~ [
e - S S
e -
R WE, /e R L

(c) 35 minutes 55 seconds 143 minutes 40 seconds (1)

(1) for correct X-co-ordinate (1) for correct y-co-ordinate

(1) for each digit 92 + 283 = 375

25%x2x3(1) =15(1)
2(1) =22 =12%(1)
25 100
Terms are in the 6 times table, num i o T
(1) for each of the criteria satisfied P el ot B 5 (1) s divisicle 25
100p x 24 = 2400p (1) 2400p - 24p = 2376p (1) =£2376 (1)
;g m;r;ths4=8 11);6!8!';638mo:ths (1) 21/07/14 t0 15/10/15 is closest (1)

+25= ~ 48 = 920 — prl :
e (1) 920 students - 46 = 874 (1) 874+ 2=437girls (1)
Arrive at Hopesfield bus station by 09:00 - 5 minutes = 08:55 (1)
Arrive 08:49 so 07:15 from Marston (1)
The scale goes up in 2°C steps
4n-7=n+23(1) 3n=30(1) n=10(1)

(e) 18 and 8 (1) for each of the criteria satisfied

n+7+24=30(1) n=(30—24)><7(1) n=6x7=42(1)
a rose and a tulip are equally likely.

143 minutes 40 seconds + 4 = 35 minutes
55 seconds (1)

33 (c) 90m 14500 m? - 6400m? = 8100m2 (1) Square field, 90m x 90m (1)

34 () y=x-5

35 (d) 200  650g + 3.25g = 200

36 (a) 4squares and 8 triangles (4 from each square-based pyramid)

37 (d) 25 5 half marathons to 3 marathons is 5:3 (1) 15 marathons +3=5 (1)
5 half marathons x 5 = 25 half marathons (1)

38 (c) 38600 78 x 386 + 386 x 22 = (78 + 22 = 100) (1) 100 x 386 = 38600 (1)

39 (b) 9 24.(1) - 15 (1) = 9 (1). Use BIDMAS

40 (e) 12-4g

z 9 g g 9

41 (d) Al Hamra Tower and Petronas Tower 1 452m —-413m=39m

42 (e) 18a+6 (3a+1)x6=18a+6

43 (a) 21 The mode is the most common.

“lg  EM=z0)

45 (a) 72 Total members — senior members = junior members: 132 - 36 = 96 (1) 96 + 4 = 24 (1)
24x3=72(1)

46 (c) 288 Melon is favourite for a of the children, 72 x 4 = 288
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47 (b)

48 (d) £225 T
- v
250
_g, ; _____ el i — 1
£.200 i
?,i 1
é:zse ;
100 |
1
50 :
1
0
1 30 50 60 70
P ﬁo Laps of tl:g track run jﬂ
49 (c) 26°

Triangle A is isosceles with base angles of 75° [180° - 30° = 150° (1) 150° + 2 = 75° (1)]
Angle next to 75° is 180° — 75° = 105° (1)  180° in a triangle, so x = 180° - (49° + 105°) = 26° (1) or other
appropriate method.
50 (c) 74.5  Correctly ordered data [3 3 8 25 38 68 81 142 180 196 200 210] (1)
Mean of 2 middle values (68 + 81) + 2 = 74.5 (1)

Mathematics Practice Papers 1 published by Galore Park



